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Distributions are different
from previous cosmic ray
data, because the direction
of scintillator is changed.
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Strip level charge distribution

=x10°
100 [~ hb_003
L Entries T13605
: Mean 9.998
Std Dev 1128
80 __ Underflow [1]
— Overflow 65
[ Integral T.135e+05
w60 —
o B
5 - Layer 2, Sheet 1
40 .
- V strip
20
ol v v T .
-20 -10 0 10 20 30 40 50 60
Charge (layer=1,sheet=0,is_xstrip=0) [fC]
L hb_004
80000 [ Enfries 850814
~ Mean 15.62
70000 [ Std Dev 13.83
[ Underflow 1]
60000 j E::gr:‘::w 3_595:(;2
%BOOOD f
1A0000 —
- Layer 2, Sheet 1
30000 X t .
20000 S rlp
10000
0 L P R U ER R Rl
-20 -10 0 10 20 30 40 50 60
Charge (layer=1,sheet=0,is_xstrip=1) [fC]

i hb_005
90000 __ Entries — 604785
80000 |- L
70000 - et :
60000 ; Integral 6.048e+05
g% -
50000 |-
Tu0000 [ Layer 2, Sheet 2
30000 [ V strip
20000 —
10000 —
0 B L |
20 -10 0 10 20 30 40 50 60
Charge (layer=1,sheet=1,is_xstrip=0) [fC]
- hb_006
50000 |~ i
— Std Dev 13.35
Underflow 1
40000 — Overflow 235
L Integral 6.866e+05
w
£30000
= =
w Layer 2, Sheet 2
20000 — .
. X strip
10000 —
0 L |
-20 —10 0 20 40 50 60

10 30
Charge (layer=1,sheet=1,is_xstrip=1) [fC]

Run 4

Distributions are similar to
previous cosmic ray data.
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Strip level time distribution
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Run 4

Time distributions from
previous data sets are

continuous.
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Strip level charge distribution
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Strip level time distribution
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Strip level charge distribution
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Strip level time distribution
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Fit of ttme distribution
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Fit of ttme distribution

Tr and AT for
different sheets
are not consistent.
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Fit of time distribution

Tr and AT for
different sheets
are not consistent.
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Occupancy
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Distributions from previous data sample
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Events

Events

Distributions from previous data sample
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Events
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Distributions from previous data sample
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Occupancy

Events

500 [ Entris?c_00139505
400 Run 1 ovon "1z
300 L Layer 1
- X strip

200 —
100 —

0 | W | |

—1500 +1000 —500 0] 500 1000

Time (layer=0,is_xstrip=1) [ns]
#~— -1120 ~ 550 ns —*

Rate = Occupancy/(1670 ns)

Nhit - entries of histogram in [-1120,550] ns
Ns9: (entries in signal region) — (number of
bkg estimated using sideband)

Layer 1

Layer 2, Sheet 1

Layer 2, Sheet 2

Layer 1

Layer 2, Sheet 1

Layer 2, Sheet 2

Layer 1

Layer 2, Sheet 1

Layer 2, Sheet 2

Layer 1

Layer 2, Sheet 1

Layer 2, Sheet 2

X < X < X < X < X < X < X < X < X < X < X < X <

9.94+0.05
5.90+0.05
26.51+0.09
36.43+0.14
7.45+0.05
6.90+£0.06
41.83+0.11
44.44+0.13
11.98+0.06
11.10£0.07
7.80+0.05
8.47+0.07
36.99+0.11
39.77+0.13
13.31+0.07
14.59+0.09
8.37+0.05
9.63+0.07
30.08+0.08
28.40+0.09
11.30+0.05
13.02+0.07
8.36+0.04
9.89+0.06

m Layer/Sheet | Strip type | Occupancy (10-4) Rate(10-7)

5.95+0.03
3.53+0.03
15.66+0.05
21.81+0.08
4.46+0.03
4.13£0.04
25.05+0.06
26.61+0.08
7.18+£0.04
6.65+0.04
4.67+0.03
5.07+0.04
22.15+0.06
23.81+0.08
7.97+0.04
8.73+0.05
5.01+0.03
5.77+0.04
18.01+0.05
17.01+0.05
6.77+0.03
7.80+0.04
5.01+0.03
5.92+0.04
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